
heb61−3n

 
heb61−1a

−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y    1

    2 100

    3 1000

log L* 85,2 LABJND lightness
L* 85,2,u

75,9

920,3
log(L* 85,2,u)=2,70, mu=0,43

L* 85,2,u=508, Yu=18

L* 85,2= (t/a) ln ( 1 + a·Y) [1a]
L* 85,2= (t/a) ln [ 1 + b·(Y/Yu)] [2a]
a=0,3411 t=88,23 t/a=258,6 b=6,141 [3a]

application
range

 
heb61−2a

−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y  −2

  −1 0,1

    0 1

    1 10

log ∆Y  CIE tristimulus value difference ∆Y
∆Y

0,015

0,398

logdYu=−1,09, mu=0,86

Yu=18, dYu=0,08, (dY/Yu)=0,004

L* 85,2,= (t/a) ln ( 1 + a·Y) [1c]
a=0,3411 t=88,23 t/a=258,6 b=6,141 [2c]
tristimulus value Y difference
dY = (A1+A2 ·Y)/A0,  see CIE 230; Eq. (A.7a)

[3c]dY = ( s + q·Y) / c,  see Richter (1985)
[4c]

dY = ( 1 + a·Y) / t [5c]
dY = ( 1 + b·(Y / Yu) ] / t [6c]
A1=s=0,0170 A2=q=0,0058 A0=c=1,5 [7c]

application
range

 
heb61−3a

−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y  −3

  −2 0,01

  −1 0,1

    0 1

log (∆Y/Y) CIE  Y sensitivity
Sr=∆Y/Y

0,015

0,003dY/Yu=0,00, mu=−0,13

Yu=18, dYu=0,08, (dY/Yu)=0,004

L* 85,2= (t/a) ln ( 1 + a·Y) [1e]
a=0,3411 t=88,23 t/a=258,6 [2e]
tristimulus value Y sensitivity
dY/Y = ( 1 + a·Y) / ( t ·Y) [3e]

application
range

 
heb61−4a

−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y    1

    2 100

    3 1000

log (Y/∆Y) CIE Y-based contrast
Cr=Y/∆Y

65,7

251,2log(Y/dY)u=2,34, mu=0,13
Yu=18, dYu=0,08, (Y/dYu)=222

L* 85,2= (t/a) ln ( 1 + a·Y) [1g]
a=0,3411 t=88,23 t/a=258,6 [2g]
tristimulus value Y contrast
Y/dY = (1 + a·Y) / ( t ·Y) [3g]

application
range


